EARAROBEEIERT — 2 N— IBISH —F

201943831 (H) 12EKR5H

m C2+t# ¥5%—M EE
[AE4£] 17 :200,000" ~ 23#%&:52,000”  33&:28,000” 437 :20,000MH .~ 57 :10,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R ROE— :30. -1-1- . — #HEBE (KR)
1 4| RUF v 4 5 a5 1(3_0)7 1=1-1-1 | 40.8 1 ge; jﬁg%%
LA a0R—5— BITILAHAT TE FE
5 45 | AR 1:30.8 6-6-5-5 |40.3| — 3 480 | EUfE— (KiR)
2|5|5|YBFa— 5.0 (172) o) | AR
B LINT Ry IR BIILTA ALy b HET 7 — L
= e = i 6 | EERE 1:31.1 3-2-2-2 |41.1| — 8 478 | PR (BERE)
3lglg| T —AK=5— 54.0 (1°3/4) () |EHBZE
XA avR—-—3— B:7LY ko ose)
7 $3 5 4 6 | PIEBRAR 1:31.1 4-4-3-3 |41.0| — 4 | 460 |fEAAEA (KR)
altlq|T-nrs54 54.0 5 &) G |REE=
XA agY LYy B:d—JLR$Y— 25
-3 _ s 4 | BEAK 1:31.5 8-7-7-7 | 40.9| — 7 445 | TEERRZE (BERE)
5177 e i 252.0 (2 1/2) (-5) fEmE—
LIV NAT A=~ BRN—T = PSP SN
g $5Ath :31. ~8-8- . — 1EEnE (B&E
6 NEPE LR H 6 i (12311/29) 7-8-8-8 | 40.8 6 (4+812) L
L:G7—3UT> B:X142auT7L X3 N::Ee)
[ # 5 | =BEE 1:32.2 5-5-4-4 | 42.0| — 2 463 | #FHES (KR)
7 3| Fr>Ta 54.0 (1 1/2) (o) | BHD
LA-YXL A4 B hAH—F 5% —4i5
# 7 | HER 1:32.4 2-2-5-6 | 42.3| — 5 427 | fE4AREA (KiR)
8 2 FrlIlhb—L 54.0 (11/2) 1) BB ’
R:ZRFAd—IV K B:I—-V>TT+— ITRILTRIAD B
® I —F—@EBIERL
13=zr= 4,2,8,1,3,5,6,7
Aol=5r= 4,(2,8),1,3,5,7,6
G§a=7r= 4,8,1,3,(2,5),7,6
43—+ — 4,8,1,3,5,2,7,6
[ RN
B OB 4 1504 714K 4-5 170H B E 4-5 430M &R 4-5-8 5,540
8 B 4 110 4-8 1,230M B H 4-5 600 JEH 4-5-8 13,780H
5 140 5-8 2,200/
8 1,470M

ABICOVWTRDTEEERROODE. TR LIV,




